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sl = 0;

s2 = -0.0159 + 0.22437;

s3 = -0.0159 - 0.22437;

X1 =1[1;0;0];

X2 = [-19.43-274.17;-3.0885+43.577;1];
X3 = [-19.43+274.17,;-3.0885-43.575;1];
al = 3.885;

al = 0.05-0.0035447;

a3 = 0.05+0.0035447;
t = 0:0.5:300;
X = al*X1*exp(sl*t)+al2*X2*exp(sZ2*t)+a3*X3*exp(s3*t);

subplot(311)

plot(t,real(x(1, :)))

ylabel('Altitude perturbation, \delta{}h (m)")
grid

subplot(312)

plot(t,real(x(2,:)))

ylabel('Velocity perturbation, \delta{}V (m/s)')
grid

subplot(313) |
plot(t,real(x(3, :)))

ylabel('Flight path angle, \gamma{}(rad)')
grid

XLlabel('Time, t (s)')

print -depsc phugoid.eps
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